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REPRODUCTIVE CELLS:
ONLY SPERM AND EGG
CELL PRODUCTION

HALF NORMAL NUMBER
OF CHROMOSOMES

PRODUCTION OF
BODY CELLS ONLY

FULL AMOUNT OF
CHROMOSOMES

Daughter
chromosome
e separate

Daughter cells
_ form

Daughter nuclei are genetically
identical to parent cell



Or video
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https://www.youtube.com/watch?v=zrKdz93WlVk&feature=youtu.be

CHROMOSOMES. DEMYSTIFIED!
) : (in Humans) @ AmoebaSisters
Mitosis: |
| |eefore Interphase | After Interphase | After Mitosis |

Chromosomes] = %6 | 46 | 4%
Chromatids | 46 | 92 @ | = %6 |
+ = Chromosome with 1 chromatid

22 = Chromosome with 2 chromatids

Meiosis-

Before Interphase | After Interphase | After Meiosis I | After Meiosis II
Chromosomes] = 46 | = 46 | '
%6 | 92
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[Chromatids
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23 chromosomes each
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You can now explain that the main difference
between Mitosis and Meiosis is —

Mitosis produces body (skin, hair, nerve) cells
with the full amount of chromosomes & Meiosis

~only produces sperm and egg cells with half the

" number of chromosomes.
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